-

‘Why DId Orgo Check

Write the letter of each exercise in the 6;92168.

Coobies Before E@ié

contalning the answer.

Find the length of a side (s) of each square,

Area Aren

100 m? 49 fe2
T.s=__m E.s=___ ft
Find the squarg root.
0. V25 W, 34121
A. +/500 D =1
E. —+25 H. —+/8100
T. —~/900 M. 410,000

answers for left side

il | | 25em{ -
E.A=M;H]‘11.3 T.A=__I_cin2
Simplify.

H. /64 R. 625
E /0.64 E. -/6.25
s..?/fé ++/9 H. 100 - /64
E. V16 +9 W. 100 — 64

answers for right sids

NAVANRNANR]

BANANRNANA

Estimate each square root without using a

Simpfify.
. caleuiator. From the answers &t the botiom
A. /192 + 52 E. ﬁ NG of the page, choose the best estimate.
: E. 410 E. —+/30
T. V172 - 152 A. +/38 - /38
' 9 N. +/98 N. —4/60
H. v30% + 402 s. (v15)
| n | 0. /40 B. -5
E 94 + 449 H. +90?
_ E. V75 K. 4200
g - \/I_ N S
D. v8l L. 7100 B. V150 R. /392
answers for left side ar.wswers for right slde
o / \ 2 / \15 / \15 \75 / 38| | |22 \5.2 / 165 19.5/ \14.1 / \9.9
1 ' . 1 7 | .
90| |sg) 301 ["{5| |50 Lg —7.1\ / 7| |-77| |22\ 83| [|-55]
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The Pythagorsan Theorem and Inéquaiities:
: Square Root



